WIS R PR

FE20224E 8 FF

R E VNI SN L

b EeE CE—RERIRES)

4 5 RF WAL X ar | @mixoxgm | BRGr H 2 &ix
R | 211321 %%xxxskiiklD67 PR 88 80 84.00 1
FRA | 2114225 kkksk%%641 ] PR 86 80.6 83.30 2
KT | 211382%**xxxkk]()27 PR 84 80.4 82.20 3
E AT | 211321 kk%%%%] (62 PR 80 79.2 79.60 4

F4E | 211381 Hk*%%%%()D26 PR 78 80.8 79.40 5
FRAFT | 211302%*%%%%%%(082() o PR 75 81.8 78.40 6
MRenF | 211381 *****%%3024 2P 74 80.8 77.40 7
Hrdg | 211381%**xxxxk7]26 5 71 82.4 76.70 8

BR | 211302%kkk%x5%0022 B HRF 68 83 75.50 9

WBL | 211321 %*xkkiks2406 = M{c% 69 81.2 75.10 10
M FH | 232330%xkHnkk]6)7 = P 71 78.6 74.80 11

%Flﬂiﬁj‘c S —HERIRR)

8 H it HF WAL X R | @i sg | RSt H L &x
TIRF | 211303%**xxxxx0427 2 P& L 90 84.2 87.10 1
ARER | 150430%5%%%5x%(0] 68 5 PiEL 90 83.6 86.80 2

ERF | 2113228 k%%5kk%(0()23 B HiEX 82 87.8 84.90 3
Fgal [ 2] 132]kkkrkkk0226 5 HiE X 85 81.6 83.30 4
Z=FIR | 211302%%**xkk%0429 5 HiEX 77 85.8 81.40 5

5 220283 %*****%%4093) 2 P& L 79 82 80.50 6




PSR (SRR

A Gy iE5 RFE KL Eikmar | mikomsr | Bmsr | HES &ix

X FH | 211302% k555050444 =P &iE 95.5 84.8 90.15 1

Ay | 211322 xkkkkkR()()27 =P &iE 89.5 88.6 89.05 2

FRATR | 211382k xxskskskk()444 =P &iE 90 86.4 88.20 3 8 X ARG 21 5 A
TRA | 211302%**%%x%%((2() =P &iE 91 85.4 88.20 4

b BABOE (BRI )

2 4, G iE5 RAE [ EaXomsr | @mikomsr | Eamsr | HE &iE
EXLE | 371425%kkkkkkk9()83 5 B AAE S 82 78.6 80.30 1

SRSFTE | 211302%**%%k%%]626 5 B AAEE 78 79.4 78.70 2

K AEBL | 211302%%%%%k%%()043 5 B AAEE 72 81.8 76.90 3 XX Gt = 5 B
JB | 211321%****%%%56)() 5P B A ES 74 79.8 76.90 4

KB | 211322%*#skkx%%8(7 | 5 e S 71 81 76.00 5

FRME | 340881 *kkkskikikk] Q35 5P A ES 59 79.4 69.20 6

FHR | 211322%kkkk%%x306D 5P A ES 47 80 63.50 7

wb s C—RERIAEES)

S A Gy iE5 RF WAL Ekmar | @mikowsr | Bmsr | HES &ix
BIRAR | 211302%**kkkkx]6D7 SYm 81.5 89.6 85.55 1

Ay | 211302% k%1629 5Ym 77.5 92.4 84.95 2

bR CSS—RERIARES )
2 4, G hiE5 RAE KA EXmsr | @miXomsm | ERsr | HES &ix




Fk | 21138 ##kkknnx(8]12 2P W 76 85.4 80.70 1
FRELFG | 211324%*##kkk%()()28 2P W 58 82.6 70.30 2
X R | 232330 *kkkRRR()DDD L 60 79.6 69.80 3
bRl (BRI )
A Gy iE5 RF WAL Eakmar | mikowsr | Bmsr | HES &ix
ZH | 210727%%%kkxx%5123 o E 93 78.8 85.90 1
FR& | 211382%%kkskxxk()()2X 5 82 82.8 82.40 2
M RAE | 150404%*x%%ksk%] 112 o E 79 80.4 79.70 3
224 | 211303%%kkkxx%0445 =5 78 81.2 79.60 4
o | 211321k xkskkskkxg6Q] 5P 75 84 79.50 5
F | 211382k #kkkxx%()6D5 o E 73 82.8 77.90 6
FHF | 211302%%kkxkk%k(047 5P 69 82.6 75.80 7
FEE | 211302%%kkkxx%k)04X o E 63 81.6 72.30 8 8 X ARG 2 5 A
b (SRt IAES )
2 4, G iE5 RA KA EaXomsr | @miXomsr | Eamsr | HE &iE
AHER | 211302%*xxxx%%36D5 e R 88 87.2 87.60 1
BATME | 211381 *xkkkkkk57D) e R 90 84.2 87.10 2
EP | 211382%xkkkkkRkT]D2D 5P 88 85 86.50 3
by C—RERIEES)
A Gy iE5 RF WAL ke | mikowsr | Bmsr | HES &ix
FRSLAE | 211321 *xkkskskskkg6D) 5 Ay 84.5 85.2 84.85 1
JAZ | 211321 %xx%kkk%536X 5 Ay 84 85.4 84.70 2




P ER LR IREL)

LA Gy iE5 RFE KL Eikmar | mikomsr | Bmsr | HES &ix
W EI | 211302%%%kkkx%( ()27 5T E R 75.5 86.4 80.95 1
Z A 211302 %*ksksksx%(424 5P E R 67 83 75.00 2
PR E CB—RERIEE)
2 4, G iE5 RAE [ EaXomsr | @ik s | Eamsr | HE &ix
TR | 640221 x*%kkxx%()9)5 oA N 72 86.4 79.20 1
TR | 211302%%kkx%%%()82D ok N 65 87.2 76.10 2
AR | 211322%**%%%%%0()]14 oA N 67 85 76.00 3
P EREAR (CE—HERIAE)
4 5 BFE Kz X | MR | BRsr H L BiE
FREFE | 211381 *xkkkkk%()8D() HPEEHRR 69 92.8 80.90 1
Earpa Rl (SE—HERAES )
2 4, G hiE5 RAE [ EaXmsr | @mikodr | ERsr | HES &ix
IR IE | 211302%%%kkkx%(42() A NN 81 92.8 86.90 1
PIEEE C—RERIEES)
2 4, G iE5 RAE [ EaXomsr | @miXomsr | Emsr | HES &ix
B ETR | 211302%%kkxxk%(4]7 1P 94 81.8 87.90 1
T | 210123 **%kkkk%k()8D3 1P 90 81.8 85.90 2




FRIFIE | 211381 %%iksnik|44] R 87 82.6 84.80 3
FAEF | 211302%**xxkk%084X P T 86 83 84.50 4
RIS | 211302%k#*xk%%300X R 87 80.6 83.80 5
ALIEHF | 211321 %***xxk57026 P T 85 82.4 83.70 6
ALIE M | 211321k xikkE%4709 P T 84 80.8 82.40 7 i e AL
T a8 | 211382k kkxkk%%)()35 P T 84 80.8 82.40 8 KRG = 5 AT
i B | 211322 kk%x%%)764 P T 85 79.8 82.40 9
A5 | 211382 ikkkkk | 868 P T 83 81.2 82.10 10
FRE | 211302%%kkk%%%0828 P T 82 82 82.00 11
TS| 211382%*kkkknk)0) ] P T 82 80.4 81.20 12
PIPESC R —HERIARS)
I 4 G piE5 RF K Ax Ekms | Mk | kg | #HE &z
B | 211303%%wikk®x3604 A1 9 15 L 86 90 88.00 1
FRFBL | 211321 %% %wkk%%4263 A1 9 15 L 86 85.4 85.70 2
X EZH | 211302%%kkkxkk] 623 195 83 86.4 84.70 3
FREF | 211302%****x+%()g828 1P 5 L 79 88.6 83.80 4
FRRBL | 211302%%k5%x5%0020 A1 9 15 L 87 79.8 83.40 5
RS 211321 %%% %5555 (0(22 A1 9 15 L 83 83.2 83.10 6
REABIL | 211302%%kk*%%%3773 A1 9 15 L 81 84 82.50 7
RIFF | 211302%**%%%%%0829 1P % L 79 85.4 82.20 8
EBL | 211303%#k%xxkk0028 A1 i S 76 87 81.50 9 XA Gt = 9 AT
Zeuy | 211381 Hkk*xkkk3()23 195 79 84 81.50 10
AREAE | 211324%kk%%%%((27 A1 9 15 L 77 84 80.50 11
K& | 211382%wikkkxx4448 195 75 85.4 80.20 12
AL | 21138 *kkkkxx%x3)06 A1 9 15 L 77 83.2 80.10 13
B4R | 211382%**kkkk%2408 A1 S 72 87 79.50 14 XA Gt = 9 AT




B IEE SRR

I 4 G piE5 RF R Ax ks | Mk | Bk | HE &z

EF | 211303%F%wkkxx]04] A 96 88.2 92.10 1

Tk | 211303%%kk%xk%0(029 R 96 86.8 91.40 2

KRBEB | 211324%%%wik%%447 ] P RiE 93 85.6 89.30 3

RIET | 230220%%k5%xk%0747 P RiE 92.5 84.2 88.35 4

FRAN A | 152106%%5*xk%]749 A 88 87.4 87.70 5

BRERK | 211303%**kkkk*36)5 ZAES 85 89.4 87.20 6 XAt = 9 AT

WA | 211202k kk%xx%)5)() A 90 84.4 87.20 7

RE | 210623%*%rk%%%0472 A 93 80.4 86.70 8

TR ZE | 211382%wikkkik((23 R 85 88.2 86.60 9

FRIFTL | 211321 %%%%%%%%(208 ZAES 85 87.8 86.40 10 X5t & 9 AT

W | 21132 %ekkkkxx78)5 P RiE 90 82.8 86.40 11

FHER | 211303%*%kk%x%0420 A 84 88.6 86.30 12

FRAGIL | 211302%**skk%%]623 P RiE 85.5 87 86.25 13

FRA | 211302%H#kkk%%28)8 ks 85 87 86.00 14 | @ik, XeRE & H 50
IR R MR 19/ 4L Y &)

74 G iE5 RFE KAz ERXRar | mikmg | R4t | L &iE

X FRBE | 211321 %%*xxkk%86]4 i iE L kG 85 82.6 83.80 1

Bt | 211321 %¥**%%%%7629 M PiEiE G ik 78 82.2 80.10 2

ZghEr | 211302%x#xkxx%(0826 W PiEfE s ks 76 81.6 78.80 3

JEET | 21132]%%%%xkk%2866 i s L kG 73 80.6 76.80 4

ZF | 211303%%*xxkk%0062 P iEfE L kg 67 82.2 74.60 5 & X R GT & H 5 A

KIH | 211302%%%%%%%%2020 P i fE 5 kg 68 81.2 74.60 6

GRIEF | 211303%*kk*xk%k0426 P iEfE Y kg 63 81.4 72.20 7




| x4 | 2113025001628 | W PiE s kG | 60 | 80 70.00 8
b s (55 HEIRIAAS )
A Gy iE5 RF WAL £ | @mikomsr | B | HES &ix
FRAKHE | 211302%xxxx362] AR 84.5 95.2 89.85 1
R | 210902%*xxskkig5]8 AR 86 91.2 88.60 2
rHF | 211324%%k0kkxx0023 AR 78.5 96 87.25 3
BRI | 211321 %**#k%%%5604 k4 78.5 95.4 86.95 4
B3 | 230604%**xxrkkq404 k4 79 94.8 86.90 5
AL | 211302%kkxx*E%()-64 R4 79 94.6 86.80 6 8 X AR 21 5 AT
E G| 211302%kkkk%%%04]] AR 83 90.6 86.80 7
FEE | 211303%k*%%%%]1205 k4 80 91.6 85.80 8
A [ 210103%kkkkkkk6()]9 ¥ 81.5 89.2 85.35 9
PR (55 HEIRIAAS )
S A HpE5 RAE KA ZiXxgr | mikRkg | BRG | #HEL &ix
BAER | 211324 *xxxxxx2343 1P W3R 86 85.4 85.70 1
B4 | 2113225 kkkk%%x6D87 1P W3R 82 81.2 81.60 2
BERARTR [ 211402%%*xxx5x%k0419 A1 P o, 38 80 80.4 80.20 3
4R | 211321 % %xxrrxx428 A1 P o, 38 73 84.2 78.60 4
MR AF | 211381 %%*kk%%%()()47 1P W3R 68 80.6 74.30 5 XX Gt 2 5 B
VbR (55 HEIRIAAS )
A Gy iE5 RE WAL £ | @mikmsr | BaRar | HES &ix
FRAT | 211321 %%##%xxx496X 1P 38 100 86 93.00 1
KBS | 211322%kkkkkkk35]() 1P 32 93 83.2 88.10 2




G, E | 210921 **skkxx%%x3304 1 P 4y 22 92 82.8 87.40 3
Z=Bgt | 211321 % xkkkskskkl()62 F R 90 83 86.50 4
FE | 210921 *#kskkskkk784] 19 4 2L 86 81 83.50 5
bR 55 HERIRES )
A Gy iE5 RF WAL Eakmar | mikowsr | Bmsr | HES &ix
FROA A | 211302%*xxxxxx]626 1A FE 96 87.6 91.80 1
FRITR | 211303 %% *kkk%%()4D5 1P A 96 87 91.50 2
TR | 220722 x*kERERGDDQ 1P A 92 86.4 89.20 3
AR | 211303%kkxkskkk 16D ] 1P A 88 90.2 89.10 4
FE | 211481 %*xkkkkxg())5 1P 92 85.8 88.90 5 KPR G 2 A 7w
FRFAT | 211303%***kk%%k3607 1P A 92 85.8 88.90 6
b 55 HEIRIRES )
S A HpE5 RAE [ ZiXxgr | mikRg | BRg | #HEL S
BERRIR | 211321 %%k ]50X A 93 83.8 88.40 1
B3HE | 211302%kkkkkkx360] AP Y 87.5 84.8 86.15 2
WRAE | 211321 %****%%%3265 P A4 86 83.8 84.90 3
FEL | 211381 ***kkskkk]826 A 80 84.6 82.30 4
TRk | 211321 %x%kkskk%] (62 AP 75 86 80.50 5
MRER | 152301 %%%%s%%%%4023 AP Y 77.5 80.2 78.85 6
b 55 LIRS )
S A Gy iE5 RF WAL Ek e | mikowsr | Bmsr | HES &ix
B | 211382k kkskkxkk()644 P F R 89 86.6 87.80 1
FE R 211302%#%kkk%k%(0448 P F R 84 87.8 85.90 2




| B | 211321%¢xxxx5%4719 MFF R 80 85 82.50 3
P ARE 5B HERIARS)
A Gy iE5 RF WAL Ek e | @mikomsr | Bmsr | HES &ix
EA | 211382%kkxkskkk5)] ] MPRE 82 88.6 85.30 1
FERA| 211302%kxkkkk%(04]9 MPRE 80 89.6 84.80 2
BER | 211322%%kkkkxx()539 FI N 77 87 82.00 3
B E DN [ 211421 %kkkkxx7D 14 MPRE 74 86.6 80.30 4 8 X ARG 2 A 5 AT
SR E | 211324%kxxskkkx3()] 4 MPRE 76 84.6 80.30 5
ZEi | 211324 xwskkxkk36] | MPRE 74 85.2 79.60 6
F K | 211382%#kkkkikx()()]9 MPRE 67 90.6 78.80 7
ILBEAR | 211421 %**kkxk%k](]5 FI N 73 84.2 78.60 8
FE B 211381 %kkxkkkk3 T[] FI N 69 87.2 78.10 9
b EAR 55 HERIARS)
S A G iE5 RAE KA ERRar | @iks | ERsr | S &iE
At | 211302%*x%%%%%()()3X P ER 91 86.4 88.70 1
EE | 211321 %%*xskkx%8274 P ER 89 87.2 88.10 2
FR | 211302%*kkkx%%0026 P E AR 86 88.2 87.10 3
A | 211302%kx*xx%%0)829 P E K 83 87 85.00 4
WP EEREIAR 55 fLiRIEE)
A Gy iE5 RF WAL ke | mikowsr | Bmsr | HES &ix
B H & | 211302%kxx%%5%(08) ] #1P 15 BH R 81 95 88.00 1




O PRERE (55 HERIEE)

A Gy iE5 RF WAL Eikmar | mikomsr | Bmsr | HES &ix
EWMH | 211381 ##kkkkxx3247 1P A 75 92.6 83.80 1
YRR BE (55 fERIEES )
S A HpE5 RAE KA ZiXxgr | mikRg| BRg | #HEL S
LA | 220183%kkkxkskk]8)() FREF 81 83 82.00 1
FAE | 210282%*kkxk%%k0670 BFRHF 77 81.8 79.40 2
FRIEE (55 LIRS )
A Gy iE5 RF WAL ke | mikowsr | Bmsr | HES &ix
Fodk i | 211302%kkk%%x%0446 FRHKF 88 83.4 85.70 1
HEAE | 211381 *¥kkskkxx()8D7 FRHKF 85 86.2 85.60 2
FHH | 211302%%%kk5kx%042() FRHKF 89 79.2 84.10 3
E AR | 211322%x*%kkkx()76] FRHKF 88 78.2 83.10 4
FEIL| 211302% 5 xxsk%%k( (4] FRHKF 79 84 81.50 5
HLEARTE (55 LRk )
e A FIrit5 HF WAL X R g | mikomsg | BRSr H 2 &ix
MREE | 211302%%**%%%%]626 h)LEKF 74 86.6 80.30 1
JASE | 211382%*kskskxx%390% SLERF 75 83.6 79.30 2

WHIREEY: (o5 ILaRIRRS )




S A HpE5 RA KA ZiXxgr | mikRg | BRG | #HEL &ix
IR | 371427%*%%k%%%)5]5 IR 96 81 88.50 1
ARHETR | 211321 *****%%%348X IR 68 79.6 73.80 2
PIESC (55 LRI )
% H A5 RF WAL X G | @ik | g | #HEL &E
Fok | 211302%kxkskskkx]6D3 o IR 15 T 82 88.2 85.10 1
PRBEE (55 LIRS )
S A G hiE5 RF KAz ERR Gt | @ik | ERar | S &ix
Z2 B | 211302%Kkkxk%%()8D6 W IR 315 97 86.8 91.90 1
UGS (55 LIRS )
A Gy iE5 RF WAL ke | mikowsr | Bmsr | HES &ix
PfE | 211302%**%kkx%()(23 o B2 W A8 S 70 83.8 76.90 1
Fak | 140424 % x#skkxx360%K b B2 W A0S 62 84.8 73.40 2
BFo—gk | 211302%*%kkk%%042() b B2 W A8 0 61 81.6 71.30 3
MRAE | 220381%***skskk*7404 b B2 WA 0 44 83.6 63.80 4
RS (55 fEIRIAES )
A H A5 RF WAL ZaXmar | mikokar | ERG | HEL &x
X B e | 21138 %kkkxk%%302) PR & 78.5 94.8 86.65 1
AETRAE | 211481 ***skskskkx6)] ] P IR ¥ 78 93 85.50 2
$h& | 210921 %*xkskkikg]]7 PR & 73.5 91.6 82.55 3
Z=H | 2]11303%%kkkxk%((4] PR & 65.5 89 77.25 4




FHIRHIRR (55 LIRS )

LA Gy iE5 RF WAL Eikmar | mikomsr | Bmsr | HES &ix
FEZFE | 211302%*xxxxxx(425 W B2 3h 39 73 84.8 78.90 1
SRR [ 211381 %#%xskikk6]29 v B2 3, 32 74 83.6 78.80 2
IR (55 LRI )
2 4, G iE5 RAE [ EaXomsr | @ik s | Eamsr | HE &ix
By | 211122%###55%%3527 h IR 4 38 65 82 73.50 1
IR (55 fEIRIRES )
A Gy iE5 RF WAL ke | mikowsr | Bmsr | HES &ix
JEF | 21070285 082() AR A 87 83 85.00 1
FIRARE (55 HERIARRS)
e A FIrit5 HFE WAL XS | MR A | BRGr H L &z
HrZ A | 211403%##555%%8015 PIRIKE 72 86.4 79.20 1
BEAHA (58 HEIREKS)
S A HpiE5 RAE [ A xR | mikRkg | BRg | #HEL g S
K AR | 211422 x%%%%%%kG4D() FEHEAEFHEK (PIRELIR) 88.6 88.21 88.41 1
Z=E | 211321 %xxEkEER() ()] FEHEAEAFHEK (PIRELIR) 86.8 87.1 86.95 2
S I | 211382%**kkkkkD624 FEHEAEAFHEK (PIRELIR) 84 88.21 86.11 3
B A | 211381 ##skksksking]2g FEHEAEFHEKR (PIRELIR) 81.8 87.57 84.69 4




FAsMSgee (55 fEkiAes)

A e RF WAL £ | @mikomsr | BaRar | HES &ix
FRBEA | 211122%%5ksksk5kx()()28 AFZ RS 4S (FIRELIR) 87.4 85.8 86.60 1
R AHME | 211322k xksikx()768 AFBER L% (FRELR) 85 87.5 86.25 2
PP EH SIS (56 HukEER)
B4 G iE5 RF KAz Rk | Mk | BRar | H2 &ix
A | 211302%kkkEERR()QAQ RFEGHEMES (PRELIR) 91.8 84.67 88.24 1
PEEIR R (55 fLikIRES)
A g hiE5 RF WAL £ | @mikmsr | BARar | HES &
I | 211422 xxxxsksk5462X FEFARA R R (PIRELIR) 91.8 87.76 89.78 1
WIRI (55 fEIRIEES )
B4 G ie5 RF KAz kg | miksag | BRar | #4 &ix
FiEA | 211302%%***%%%362) B (FEIRE LR ) 85 86.63 85.82 1
BB (55 fLRIAKS )
A HriEs RF KAz Zikmar | @mikmar | SR | #E4 &ix
BAEE | 211302%**%%%%%()849 #EHREM (PIREFLIR) 88.6 88.11 88.36 1
TR (5 ftikIRE)
A e RF WAL £ | @mikomsr | B | HES &




TRAkAh | 2113210k kxeer0423 | TRMEBRAR CPBERE) | 826 | 8936 | 8598 |
HAaair 51k G35 HER Ak )

S A G iE5 RF WAL £ | @mikomsr | B | HES &
KA | 211102%**%%5%%]()2() WA B TS H (PRELIR) 86.2 86.63 86.42 1

FARB (5B LRI )
B4 G iE5 RF WAL Rk | Mk | BRar | H2 &ix
FNEAE | 211302% k%% 046] EARZ (FPRELR) 94 .4 92.2 93.30 1
FEXR | 211302%**%%55%5%()86D EARZ (FPRELR) 88.2 90.6 89.40 2

Jiklie (55 LRSS )
B A g hiE5 RE WAL £ | @mikmsr | BaRar | HES &
K | 340822 ¥HHkkAAkDEDT g (PERE LR ) 88.4 89.8 89.10 1

WHERL 55 HERTAKS)
4 5 RAE [ X | mixokar | BRG He 2 &ix
B Z | 211422%%kkkkkx()4D7 TAEM (FIRELR) 92.4 91.6 92.00 1

LR (55 LRI )
A HriEs RF KAz Zikmar | @mikmar | SR | #E4 &ix
FARIF| 210882%*****%%332) W (PIRELR) 94.8 88.6 91.70 1

S I 1Y ([ N 54




A HpE5 RA KA ZiXxgr | mikRg | BRG | #HEL &ix
FEfE | 21132 %%kkkkkx]769 #HBF (PIRELR) 86.6 91.5 89.05 1

PR (55 LRI
4 5 BFE Kz X | MR | RS H 2 BiE
I | 211322 %kxxkkx6045 FE (PRELR) 79.2 89.57 84.39 1
X AR | 211381 ¥%kkkxx%57)5 2 (PIRELIR) 76.6 92 84.30 2
Z2@3E | 211302%**%kx%%()806 FE (PRELR) 75.6 92.71 84.16 3
X)L | 211381 **kskkkkk3094] ¥ (PIRELIR) 74.8 93 83.90 4

Zi% (SR
S A G iE5 RF KAz ERR gt | @ik | ERar | S &ix
BB | 211302%kkkkkxx] 665 %y (PERELIR) 73.4 92.43 82.92 1
TR | 211382k xxxx%4606 %y (PERELIR) 78.2 87.57 82.89 2

RS RE (55 LR IAAS )
4 5 BFE Kz X | miEos S| BRs H L & E
FEM | 211303%kkkrxxx80)] wEFEEAE (PRELIR) 85.6 91.57 88.59 1
B (55 fbiRIAAS )

A HriE5 RF WAL Ekmar | @mikomsr | Bmsr | HES &ix
AT [ 211303 xxkkxxx320] EFAaE (PIRELIR) 69.6 90.29 79.95 1

R (55 bR IR )




S A G iE5 RF KAz ERRGr | @ik | ERar | L &iE
IS | 211302% k()47 AL (FIRE LIR) 81.8 92.86 87.33 1

s (55 HLRIEES )
4 5 BFE Kz X | MR | RS H 2 BiE
FIEE | 211302%%%%%%%%]627 PE (PIRELIR) 85 92.29 88.65 1

fEs C55 bR )
S A G iE5 RF KAz ERXR Gt | @miks | ERar | S &ix
R | 211321 %kkkkkskk5647 fE3 (PERELIR) 81.6 91.86 86.73 1

s 55 HERIEES )
4 5 BFE Kz X | MRS | BRsr H L &iE
BR2E | 211381%**skkx%%(042) 2 (PIRELIR) 76 89.43 82.72 1




